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(1) SIS QNCTTEHESHEHLD FHILING HFHU LSHUTEH 2 6enGm
6T6OTLIG M 60T FHILITTSH SIS ClHTeTere)LD: SiFaLILISleN6L
GEOMUWIN(HLLN6T HeMME S600TSHTEUITILILITETHIL LD © L 63Tlq LIS
Q& fleNs a6 L.

BeVlDd iebevgl SWHUY mWUTener WL GG 6T(LPSHIEUSNHSGLD
SllgHCHMg (HeUHMHGLD LILETU(RSHS Coteiul(hLD. LIL MG
UMTENHM (S CILIGHTHEL LILIGTLI(H & G6LLD:

(2)

(1) Check'the question paper for.fairness of printing. If there is any
lack of fairness;inform the Hall Supérvisorimmediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams:

(2)

@eualeniT& G et HTeoTE LGS 5H600611% C&HT6UoILG).

This question paper contains four parts.

UG8 - 1/ PART -1
MATHG aNANHESEhGGL aNlenL Weil&HSHeaLD. 14x1=14
Qar(Ra&UUL (heTter IMHM eflenL&eiled Hsa D gmLenL Ul
aNenLullensnt CHIHOS(HSH SIS GOUIL (HL 60T eenLuTemeai|Ld
CETHSl 6TRSEULD.
Answer all the questions.
Choose the most appropriate answer from the given four

alternatives and write the option code and the corresponding
answer.
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f 6T60TLIG| 1/10, LOGILILT60T [Hlemevulment CFUILLITL TS @ ([HHSIT6L, f(1) +f(2) + ...
+ f(100) 63T LO&LIL]

(o) 1/10 (&) 10 (@) 100 (FF) 1/100

If fis a constant function of value 1/10, then the value of f(1) + f(2) + ... +
f(100) is

(A) 1/10 (B) 10 (C) 100 (D) 1/100

Fi=1,F2=3OMID Fr =Fn1+Fnz 6160165 QST(HSSLILIQE F5 QY6018

(213 (S)5 (@ns (rF)11

Given F1 =1, F, =3 and Fn =Fi1 + Fu2 then Fsis

(A)3 (B)5 (€8 (D)11
%%% ig . 61601 QML Jeuflemguilent SI(G6S mILiL|

1 1 2 1
(&) (&h) 7 (@) 7 (FF) o
The next term of the sequence =~ 12 ; 112 118 1S

1 1 2 1
(Ao (B)s (O (D) o7

4x* — 24x> + 76x* + ax + b 2% (WP UJEHHLD 6T6uiled, a LOHMID b -uNedt
LO&LILY

(&) 100,120 (&) 10,12 (& -120,100 (rF) 12,10
The values of aand b if 4x* — 24x3 + 76x% + ax + b is a perfect square are

(A) 100,120 (B) 10,12 (C) -120,100 (D) 12,10
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@@ Hyed sieNufedr, Hemy Hed wMHMI 316N
Q) SleVE 6w () CLEmEVAIIL L. Si65e)

@) BigeL Si6uen (F) Blen i6utN

Transpose of a column matrix is

(A) unit matrix  (B) diagonal matrix (C) column matrix (D) row matrix

ALMN-uflev 2L = 60°, M = 50° GLogy|Ld, ALMN ~ APQR sTévfled, 2R -ufleor
LO&ILIL

() 40° () 702 (@) 303 (FF) 110°
In ALMN, 2L = 602, M =50°. If ALMN ~ APQRthen the value of £R is

(A) 40° (BY 70° (C) 30° (D) 110°

UL SH6L 2 emaneuim) O -606l 60WIDTSHS Cl&Teuurt
QL L §&l6tT CaT(HEHT(H RR 6160160, ZPOQ 6018

P R
W, —

(8) 120° (&) 100° () 210° (FF)/90°
( Q

In figure if PR is tangentto the circle-atP-and O s the centre of
the circle, then 2P0OQ is

(A) 120° (B) 100° (C) 110° (D) 90°

(5,7), (3,p) LDMHMILD (6,6) 6T6OTLIET 6(1H GHTL6MLOHGH6MEU 6163160, p—UTl6dT LOSILIL

(o) 3 (24) 6 @) 9 (FF) 12

If (5,7), (3,p) and (6,6) are collinear, then the value of p is

(A)3 (B)6 @09 (D) 12
[&(HLUYS / Turn over]
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gmienelll LeUBSHEH BIHSILOMEH 6] Q6NISILONS 2 661G 616015
o BHMTLD &Teuor GeL6TTIlG LLI6D6!

(&) Q@ USSTHIGETNET FTUI6) &6

(=) Q@ Camg 615 LUSHSMIGET6T ST 6N

(@) SMSHHIL LSRG Hemmigen

(M) @@ USSMIGE6T &FM6Y&6T HMID Hermhisen

When proving that a quadrilateral is a parallelogram by using slopes you must
find

(A) The slopes of two sides (B) The slopes of two pair of opposite sides

(C) The lengths of all sides (D) Both thelengths and slopes of two sides

tan® cosec?6 — tand 61 &I
(1) sec 6 (9p) cot? 6 (@) sinp (FF) cot 6

tanf cosec?0 — tan@-is equal to

(A) secO (B) cots 8 (C) sinb (D) cot@

@ 2 emeflmm 2 (Henenuledr Gleerdliim WOMID 2 L LM S Jmhiseeo
Fa(bHL 14 Q& .15 IDMHMID SIGH60T Hlq D60 4 QF.LS Y @GLD. 2 (Hemermules
o2 wph 20 Q&L 61637160, SIGH6M6TT 2 (HEUMSSHL LIWLIGTUL L. QUIT(heMedT &eot
3616

(1) 5600r cm3 (&) 11207 cm3 (&) 56m cm3 (FF) 36007 cm3

In a hollow cylinder, the sum of the external and internal radii is 14 cm and the
width is 4 cm. If its height is 20 cm, the volume of the material in it is

(A) 5600 cm3  (B) 1120w cm3 (C) 56m cm3 (D) 36007 cm3
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@ FalDLI6TT 60T ETEUTEN I, SIGHETT (FLD SETEL6ITET) 2 (Ih60I6TUII60T

SEOISleTE6T S GLD.

(o) eLp6oTm) LOLThIG () FLD Si61T6Y

(@) urglwerey (FF) epeorleL €(1h UIMIG

The volume of aconeis __ of that of cylinder.

(A) three times  (B) Equal (C) half (D) one-third

Q&T(HSSLLLL m6USET6L 6% HEUMITEUSH|?
(@) PA)>1 (@) 0<PA)<1 @& P@) =0 () P(A) + P(A) =1
Which of the following is‘incorrect?

(A)P(A)>1  (BYO<PMA) <1 (C)R(®) =0, (D)P(A)+P(A) =1

SCLp QeMTE&SULLLIEnaISaT6 615 LT6I6L SiaTmel E)606me0?
() & (&) HILLe)lgL&H&LD

@) Fal (W& syma (F) eLFS UIH&HF FITE
Which of the following is net'a measure of dispersion?

(A) Range (B) Standaré deviation

(C) Arithmetic mean (D) Variance

UG - 11/ PART -1

@MY :  eTemeuGWILD 10 NTSHEHEHHSG allenL WeallsSHea . alleuT eT6vor

Note :

15.

28- (@ SLLMWLNS il WafsHseLD. 10x2=20
Answer any 10 questions. Question No. 28 is compulsory.

A={123}DMMID B ={x|x 6T60TLIF 10-83 L& HMlul LS 616501} 6T6uTl6L, A x B
LOMMID B x A YAUIUDMME HTEH0IS.
Let A={1,2,3} and B={x | x is a prime number less than 10}. Find Ax B and B x A.

[&(HLUYS / Turn over]
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f o601 R-e0(BHSH R-5& 601 FMIL. GOQYID SiF f(x) = 3x - 5 eT601
QUMTLMISSLULGHDGI. (a, 4) DOMID (1, b) 6T60r&H CHT(HSSHLIULL ML a
LOMID b -uNesT SILILSHEDETS HT6TUIS.

Let f be a function from R to R defined by f(x) = 3x - 5. Find the values of aand b
given that (a, 4) and (1, b) belong to f.

abx b2 =800 eTeoImeUTM] SMLOUILD QB NS (WP(PSHSHET ‘@’ LoMHMILD ‘b’ &M
SIT6H015.

‘@’ and ‘b’ are two positive integers-sueh.that a® x b 2 = 800. Find ‘a’ and ‘b.

729, 243, 81,... 61601 QUK &GS GG TeUlsn UGN, 7-611&| 2 MILIENLIS
SIT6H018,.

InaG.P.729, 243, 81,..; find t7.

GHHET (WemmenWILE- LTRSS LetTed(hd/@ELUIG & FLO6TUT(H&HE06TS
87868. 2x% —5x + 2=10

Solve the following quadratic equations by formula method: 2x2 —5x +2 =0

aij = i2j2 6163TM HeMLOLIMHLIE GISTEITIL. 3% 3 6Uflen&IL|6enL_LLI H6TIN6MUIS
&IT60015.

Construct a 3 x 3 matrix whose elements are aj = i2j2

A ABC sy 6018 ADEF -6 6uqCleurggHemel. Geylld BC =3 Q1&.15,
EF=4 Q&8 womibd (p&Camesid ABC-ullest UpLiy = 54 Q&.L52 eTeofleD,
A DEF. -ufl6dT UJLIemHUS ST60015.

If A ABC is similar to A DEF such that BC = 3 cm, EF = 4 cm and area of A ABC =
54 cm?. Find the area of A DEF.
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@@ CIBLLMEuTq.60 (leap year) 53 F6l&EILPMDGET HemL_LILIGMDSHT6T

H&LDSH&H6) 6T6oT60T?
What is the probability that a leap year selected at random will contain 53
Saturdays.

QaT(R&H&UIULL ChI&ECHT(H&HeMET FLOGTUTL 1q60l(hhE Ul & GHEees
CeL gmUEHHID CaIL (hHSHIT(h&HemeNs &M d. 3x - 2y - 6 = 0.

Find the intercepts made by the following lines on the coordinate axes.
3x-2y-6=0.

1+ cos@ N s .
oog — cosec 0 + cotf eTevitIEn g HepLISSHND.
1+ cos@
Prove that =.coséc 0 + cot @

1 - cos@

704 §.Q&.15 QAgSL\LUmLULTLL C&mel. e Jalbllstr iy 7 QgL
6160116V, IG60T &FITUULFLD, &HT6ET0IS.

If the total surface areaof a cene of radius 7¢m is 704/cm?, then find its slant
height.

@@ HIns Camed tommID) Hisvon ;) HNenF&ECaHTeard e QMGG LFLL
FLOLOMEVISHTE @\(HHGLOMETITEL SeUMMIH S6oT laTeysefett eNHHD 33 : 4
61601 MHlemLa.

A solid sphere and a solid hemisphere have equal total surface area. Prove that
the ratio of their volume is 3v/3: 4.

@@ sreler ymgfl LOHMID LML (K QA& (WamGW 15 LdHMID 48
61637160 SIHET HL L ON6LEHHMGHSH HIT6HUIS.

If the mean and coefficient of variation of a data are 15 and 48 respectively, then
find the value of standard deviation.

[&(HLUYS / Turn over]
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QEMTESHSLLLL. LeTeN&en (b CHMLIG60 SMLDHGHEme 6T6vTl6v, ‘a’ —UTl6or
OSILemLISG SHMEUnd. (2, 3), (4, a) LDOMILD (6, -3)

In each of the following, find the value of ‘a’ for which the given points are
collinear. (2, 3), (4,a) and (6, -3)

LG - 111 / PART - III

@MY :  eTemeuCGIILD 10 NS EhHSG ellenLlaflbHalDd. alleurT eT6uor

Note :

29.

42- &G SLLMWLTS el Wwail&E&sea . 10 x 5 =50
Answer any 10 questions. Question No. 42 is compulsory.

A 6T6oTLIG 8-8 QL& GEnMEUTET @160 6160 HerT60 SH6uIld, B 6T60TLIS| 8 -3
QL& GemmelTeor UG, 6Tesardhaleon &6uol D DMHMILD, C 6T60TLIG)

QUL enLLILenL ST 616001&61T160T &6U0TLD 61607160 LD &6T0TL UMMM E
gfuniss. (ANB) X C/=(AxC)n (BxC)

Let A = The set of all natural numbers less than 8, B = The set of all prime
numbers less than 8, C'= The set of even prime number. Verify that

(ANB)xC =AxC)n(Bx(C)

30. f:[-5,9] > R ¢leoim ‘Emjumend LAQUBIOID eUenTLMISSULGSDS

6x + 17/ =5 <x <2
f(x) = {sxz — 1, 27 < 6 SIveuenIMISSLLMRSME| 6T6vilev,
3x — 4 6 <x-=9
LT65T62 (I, 6L63T6UM MM G STV,
N e . _ .\ 2f(=2)-£(6)
() f(-3) +f(2) (i) f(7) -f(1) (iii) 2f(4) + £(8) (iv) SO
A function f: [-5, 9] — R is defined as follows:

6x+1;, -5<x<2
f(X)={5x2—1; 2 <x<6
3x — 4 6 <x <9

Find () f(-3) + £2) (i) f(7) - F(1) (i) 26(4) + £(8) (iv) LE2LO
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S sal (s QsMjauflensulled AGSHSEGSES BrsTE 2 mInLseler
Fa.(h&6L 28 LOMMILD SIQUMMIETT QUJSHEMRIGaT6 Fa(hH6L 276. HG HT6TIS
6T600TSH60)611& SHIT6V01S.

In an A.P., sum of four consecutive terms is 28 and the sum of their squares is
276. Find the four numbers.

@ QuhsrsHen FHCUTMSGUI LS 40,000 LDOMID 6U6IEUM(H

QU(HL (LPLD SiG60T LOSILIL 10% GHemMEMEI. 6-6U& 6U([HL GH6L
QWIS G &6 CHTIML LOSIIENLIS SHT6H015.

The present value of a machine is ¥40,000 and its value depreciates each year by
10%. Find the estimated value-of the machine in the 6th year.

E&ETEID LLEIMILINSCHTEMAUSET (LD (LD QIFSSRISHE 6T6ulled a LOMHMILD
b-ufedt &I SHesms. 4x* — 12x° + 37x* + bx +'a
Find the values of a and b if the following polynomials are perfect squares:

4x* —12x3 + 37x% 4 bx + a

3 1 :
Az[_1 2] 6T6uT6L, A BA) 71, ="0"¢Teur, Himicus.

fa=[2 1] show thatAl—sa+70=0

SllglilemL. NHHEFFD CHOMGHMS 61(10H HeHLNES.
State and Prove Basic Proportionality Theorem.

(-4,-2), (-3,k), (3, -2) bOMID (2, 3) &AW (PENETHEM6NT UFENEFUITS

Q& M6 BIMHSTSHS6T UL 28 & HEVGSH6T 61607160, K-uN6dr WHLILS ST6T015.

Find the value of k, if the area of a quadrilateral is 28 sq.units, whose vertices are
taken in the order (-4, -2), (-3, k), (3,-2) and (2, 3)

[&(HLUYS / Turn over]
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8x + 3y = 18,4x + 5y = 9 981 ChISGCHETHSET FHH&HGLD Lemaflulled
QUILNULIMSELD, (5,—4) LOMMILD (-7,6) P& LieTeilHemar @emeuns@LD
CrysCan_(hd lewvgerm HHLULTeN eUflumg:g QFeLeld ChISGEHTL Lq. 601
FLOGOTLITL_6DIL_& SHIT60015.

Find the equation of a straight line through the point of intersection of the lines
8x + 3y = 18, 4x + 5y = 9 and bisecting the line segment joining the points (5,-4)
and (-7,6).

50 I o wippeen @ CaMUISHHsT 2 FAUNNBHS @@ LrHHeT 2 &8
LOMID Sig P& weummlen Qm&EsECHTIMIGT (WDenMmGUI 30° LDMMILD
45° 6168160, LOH ST 2_ILITEME S BiIstIs (/3 = 1.732)

From the top of a tower50'm high, the angles of depression of the top and bottom
of a tree are observed to.be 30° and 45° respectively. Find the height of the tree.

(V3 =1.732)

SI(H6T H6o1& G(HOU alpTeld@ 150 LTSN $RIGUSNEG @ Fal MJLD
SIMSEHDI. Fol_NTGHSHl6m SlqlU@GS 2 (Heme sligalled GCLmUGEH
FalDL| 6ulqe)l6VILD| 261678 (el HRGUGNE 4 &5 qliugdH Lyl
40 &.18 sMHMILD CHOMMINEHMS). Fol_MF5HHE0 2-(heneTuiles 2 wiyh 8 L
6160116V, FaLDLT60T 2_UITID, SIS

Arul has to make arrangements for the accommodation of 150 persons for his
family function. For this purpose, he plans'to build a tent which is in the shape of
cylinder surmounted by a cone. Each person occupies 4 sq. m of the space on
ground and 40 cu. meter of air to breathe. What should be the height of the
conical part of the tent if the height of cylindrical part is 8 m?

QUGLILS CaiIeNed meuedfseT QUMM SHLICLIST SCLD
Q&TEHSHSLILL (Herenent. Sief&erles LSILGIL6ENMNHEGS HLL eNeV&HSHLD
SITEH01 5.

X 4 6 8 10 12

f 7 3 5 9 5
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The marks scored by the students in a slip test are given below. Find the standard
deviation of their marks.

X 4 6 8 10 12

f 7 3 5 9 5

41. (b BTCWIWILD TN (LPMM &L LILGEHADE. FHlwinsd Qe
HOEUGEET LG GOMHHLLFID (5 U SleLevd HH55EHH Qrevn(h
SHOMELGEET KM LILGDET6 HHLDEHHEN6UE SHT6U01S.

A coin is tossed thrice. Find the probability of getting exactly two heads or atleast
one tail or two consecutive heads:

42. (c? —ab)x? — 2(a’/~bc)x*+ b? — ac = 0 6T60W) FIBETLITL 160 CLOGLMRIGET
FLO MHMID QUOeTEN6, a =0 JH6L6VG a® +\b>+ '¢® = 3 abc eTeor HlepL.
If the roots of the equation (¢? — ab)x? — 2(a® — b¢)x + b? — ac = 0 are real
and equal prove that eithera =0 (or) a®> + b>+ c3 =3 ab

NG - IV/ PART -1V
@MY : WG aleomeHHEEpHEGD el iLaléEse]LD. 2x8=16
Note : Answer all the questions:

43. (o) PQ=80Q4&.15, 2R =60° 2 FER-ONBIH G PQ-5@ 6GUMIWILILIL L

BHSCHMLIq.601 HeD RG =5.8 Q&.L8. ste01 QH&HGSLMM A PQR U8,
R-60(bH& PQ-&& 6UOHIWILILL L. GSHHHCHTL1q 60T HeD HT6sus.
l6LeL G|

(@) 6Q&.8 el L (petem UL LLD eusnihHE QUL SHHET 6nLUIS SO\ (HHS)

5 Q8.8 Qgmenevallelsnar (b LeTaNenuld @Gml&HseL.
sltyemeMuNed(phg QL SHNGS QSTECEHT(H&e
QUMIHGI, QHTHCHTLLq.60T FeTRISM6NTE &H6u8H5(hS.

[&(HLUYS / Turn over]

Prepared by, R. PUSHPARAJ., M.Sc., B.Ed., CTET (Lecturer in Mathematics)
Prop KMAxSAd THANHZHARASAN. pitiss) 8. Bet@gntdb.¢So., LLB.,


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www. TrbTnpsc.com

(a) Constructa A PQR in which PQ = 8 cm, 2R = 60° and the median RG from R
to PQ is 5.8 cm. Find the length of the altitude from R to PQ.

OR

(b) Draw the two tangents from a point which is 5 cm away from the centre of
a circle of diameter 6 cm. Also, measure the lengths of the tangents.

44, (8]) xy=24,x,y>0¢660MN 6UDMILLGH60G 6UMTS. QUMTLL GHMGLI LleTLI(hSH ),
(i) x = 3 6163760 y - & HM6UNISE OMILD (i) y = 6 6T6ONEL X - RS HT6TIS.
3l6L6L G|
(&) ¥ = x%+x— 2-601 eUMIULLD_QUMIHE SASH6T CLHSOLD

x% 4+ x — 2 = 0 616D FLOGTUTL L 6068 H HTHS6 LD

(a) Draw the graphofxy = 24, x,y > 0. Using thesgraph find,
(i) ywhen x = 3 and (ii) x wheny = 6.
OR

(b) Draw the graph of y = x? + x — 2 and henee solve x? + x — 2 = 0.
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